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Question 1: Will the mentioned 40 meter width by 800 meter length area be allocated for the 2
access roads mentioned or is this area allocated only for one acess road and should be multiplied
by 27

Response: Each of the access roads is 40m x 800m. Demining shall include a total area
of approximately 80m x 800m.

Question 2: We have priced the ltem 004 of our bid schedule assuming an UXO clearance ( to
depth of 80 cm) area for our proposed project site for dwellings. Will we subsitute this item with
the Amendment 0003 Item 0004 (Identification and Abatement of all (UXO) at two acess roads as
define in SOW?

Response: De-mine to the level of 80cm for access roads. As per Amendment 0003 the
housing site has been de-mined and if UXO is encountered on the housing site the
Contractor will notify the Contracting Officer and depose as indicated.

Question 3: Will we add the cost of constructing the new mentioned access roads on to the Item
0001 of our original Bid Schedule or will we price this as a separate Bid Schedule ltem 00057

Response: Cost for the access road will be included in CLIN 0001. Separate bids or a proposed
schedule is not requested.

Question 4: Please kindly clarify what is meant by a) Total Price For Option 0002 and 0003 and
b) Total For All Clins (0001,0002,0003,0004) which is stated below Item 0004 of the Bid Schedule
part of the Amendment 0003.

Response: The total price for Options 0002 and 0003 is the sum or the two options,
assuming we awarded the two options. (b) The total for all CLINS (0001, 0002, 0003,
and 0004) is the sum of all four CLINS, assuming we awarded all four CLINS.

Question 5: Will the new mentioned access roads will have the same cross section that the
Previously Proposed Site Roads have which is 15 cm aggregate base over 30 cm subgrade? We
assume the total quantities will be calculated as approx. for Aggregate Base: 800 m x 7( width of
road) m x 2 Roads x 0.15 m = 1680 m3 and for Subgrade: 800 m x 7( width of road) m x 2 Roads
x 0.30 m = 3360 m3, is this correct?

Response: The new access roads will have the same cross section as indicated in the RFP
for new roads.



